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|ntroduction to N novy

o 1aom, referred to by the oawN7as pon nony” is devoted, by and large, to the proper preparation of animals for eating outside of the realm of
the wipn, including 7vmy, the prohibitions of 19770, 7w 1 and 2503 73, as well as other considerations, such as 12 181 MK and and jpin Mo,
each of which will be properly introduced before the particular chapter dealing with that 1N, The first two chapters focus on VN, which, as the
1712793 (ahead 85b) indicates, is 753 233701 APA3Z DAY 377 591 103 TN 27 5Y1 7377 591 OWIA 5Y AW MUNw 7050 PINR TR 798 237, There are
five actions which could invalidate a 7v'nY, listed below and the considerations of v’y by and large revolve around insuring that these do not occur
1) Y- pausing in the middle of the process of mny

2) 717 chopping the p22oin one blow, as opposed to “sawing” to and fro

3)  nmonin—putting the knife inside and cutting the upper 1270 from below or the lower 1020 from above

4)  Avuin— cutting above or below the Av’nw 1772

5)  mpy—pulling the o220 out instead of cutting them
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I ’® mwn: broad inclusion of all as viable Pomw (pomw Yan) and post-facto validation (n7w3 inonwY)
a  exclusions: v"wn — because they are likely to foul the normnw
b however: anyone (?) who performed nvnw while others were watching — that nvnv is valid
II  Analysis of language — discussion between X277 7712 RnR "1 and YOR "7
a  Challenge: opens with pomw %310 and adds nws NVNW?
i Parenthetical block: a ruling beginning with 531 (and continuing with ongoing verb) doesn’t imply n>nn%
ii ~ Example: R:® nmnn — pnn Y0, inspite of prohibition (v. 1)
1 Defense: in that case, it is explained in that nwn — not that it is permissible, but it is an effective act
iii Example: R:R 137 — all may commit to 127y and all are objects of 1’37y (parallel with o)
1 And:vv.2-3, as interpreted and applied, advise against taking vows
(a) Note: even nmiv "3, who interprets v. 3 favorably towards oral commitments, limits that to mam
iv  Counterblock: ....23n always means n2nnab, per n’x’xa Parn 50 and n210a parn Yan (31 Pa7Y)
1 Defense: all agree that the formula ...2 12»n Y20 means n>nna%
v Counterblock: am0 530 (n:0 mmn) surely implies nnnaY, per v. 4
1 Response: we recognize that the formula sometimes means n7nna%, and sometimes may mean 7ay>71
2 Question: why does the challenger elect to read our mwn as n»’nnaY, that he is posing the question?
3 Answer: he is bothered by the 2d line — 17w3 |NYNY — which implies that the 1% line is n%nn%; else why
read 2 lines that mean the same (72y>12 the Nv’NW of any person is valid)
b Solution 1 (85w 73 737): opening clause includes a Xnv who slaughtered 1510 that were prepared wTpn nnv %y
i Method: takes a knife with a long handle, avoiding touching the animal itself
1 However: he may not (n5nnaY) slaughter true w7, but if he does so, averring he didn’t touch animal — w3
(a) Exceptions: y"wn, even for regular 510 — we are concerned that they may err in nv*17 ,07nW or nToNn
2 Question: who is the referent of Yonww 1917
(a) Cannot be: v"wn — they are the proximate subjects — would read “...onw ory”
(b) Rather: must be in re: Xnv slaughtering 0w (cannot be YN — that he may do even n%nna%)
(i) Challenge: if he slaughtered DwTp, we can ask him and if he claims he didn’t touch — valid
(if) Answer: case is where he is no longer available to ask
(iii) Question: WP RNV is valid TaY>72 at R o'nar — all PYivs who did nvmw — valid (k0o listed there)
1. Answers: here is the main focus, there it is 238; or the inverse, as that is DwTp nVNY
3 tangential question: what is the source of the nkmv (which defiled the ®nv under discussion)?
(a) cannot be: nn nrMY; following v. 5, if he touches the knife, it is knv and defiles the meat
(b) must be: that he had had contact with a y7w
(i) alternatively: could be nn ®nv, but he used a hollow reed (not a conduit for nkmv), valid per xn»a
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